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Write CLEARLY (in uppercase letters) your

LAST NAME, Firstname: "

Student number:

Instructions:

- The length of the exam is de 80 minutes.

- The exam has 5 problems.

- Write the solution clearly in the space following it. If necessary, you can continue
the solution in the back of any page - in this case, you must clearly indicate that
the solution continues in the back of the page “n”

- Use of manuals, courses notes, calculators or any other electronic devices
is not allowed..
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Problem 1 (/ points) Find and classify the critical points of the function

Jlay) = 22° 4+ 2y + 52° + 7.
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Problem 2 (3 points) Fvaluate the integral
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Problem 3 (5 points) Find the volume of the solid E in the first octant (v,y,z > 0) delim-
ited by the coordinate planes and the surface z =1 — x* —y.
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Problem 4 (4 points) Use lhe Lagrange multipliers method to find the minimum and maz-
imum of [(x,y) = x*y under the constraint v* + 2y = 6.
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Problem 5 (4 points) Find the mass and the center of mass of the plate with density
p(x,y) = 3 and delimited by the graphs of y = 2* and y = 2.
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